Jdn, do [GeV]}

sum
T

{(1/Nevents) d p

Ratio to CDF

2.2

== = P~
N~ O o N
T T T T T T T T[T T T [ TT [T T[T T[T [T TIT[TTT[TTT]

=

0.8

0.6

0.4

0.2

= [T T 1T T [
Average Z(p ) vs p'fad (p, > 0.5 GeV, h < 0.8)
m CDF
--3-- Herwig 7.2.1 default
—— Pythia 8.308 default
----- ¢ Sherpa 2.2.9 default

900 GeV ppbar

pnd

erlying Event

IIII|IIII|IIII__III|III|III|III|III|III|III|III|III|III|III|_

2IO
(P [GeV]}

Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


